1. Solve.

{ can think about the ones first,

38 + i2=_50 IB+ZT =40 Sirice 38 is close to 40, | can
f X 40+ 40 = 8O make the next ten! luse a
A 40 number bond to break apart 42,

and then [ add 38 + 2, Then,
40 + 40 = 840,

S/

2. Solve using number bonds. You may choose to add the ones or tens first. Write the two number
sentences ter show what you did.

{ can break apart-43 into tens
and ones. 1can add tens first.
So, 56+ 40 = 98, fcan't
forgetto add the 3 ones:

96 + 3 = 99,

a. B6+43= 56+ 40 = 94

f\\ 96+ 3 = 99

This time, | add ones first, When |
break apart 25, | §ee that| can
add 5 0 45 to make 50, That'sa
friendly number! Then | just add
5 tens + 2tens = 7 tens, or 70.

b, 25445 = T 45 -+ 5 = 5O

f X | 504 20 = 7o
28 5

14 : Add a palr of twe-digit numbers when the ones digits have 2 sum less
thanoregqual fo 10
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